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General Instructions :

(1) Question paper contains 37 questions. All questions are compulsory.

Question paper comprises six Sections— A, B, C, D, E and F.
(it) Section A — Question Nos. 1 to 20 are MCQs of 1 mark each.

(i1i)) Section B — Question Nos. 21 to 24 are Very Short Answer Type
Questions, carrying 2 marks each. Answer to each question should not

exceed 40 words.

(iv) Section C — Question Nos. 25 to 29 are Short Answer Type Questions,
carrying 3 marks each. Answer to each question should not exceed 60

words.

(v) Section D — Question Nos. 30 to 33 are Long Answer Type Questions,
carrying § marks each. Answer to each question should not exceed 120

words.

(vt) Section E — Question Nos. from 34 to 36 are Case Based Questions with

three sub questions and are of 4 marks each.

(vit) Section F - Question no. 37 is Map based, carrying 5§ marks with two
parts, 37(a) from History (2 marks) and 37(b) from Geography
(3 marks).

(viii) There s no overall choice in the question paper. However, an internal
choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

(ix) In addition to this, separate instructions are given with each section and

question, wherever necessary.
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wUE - % (20 x 1 = 20)

(Sgfereredta 99)
1. Frafefaa ® & s o1 amwe qiiETies Sl @ weted T8 8 7 1
A) foarg
(B) TG &
(C) fora
(D) fo

2. H= g wue, fieeya (A) 3 wRw (R) feu o € | el 1 dfen 3fi @t foeme w1

WW: 1

afireRem (A) : i o faftm fewal § wfeemd mfed g3 ot @ atfeeri o forg stigiem
fopa |

HROT (R)  : TiEcal & eIl 1 3299 SHihiTd 3R ITieiies Sfie 8 oft Tom=ar o 1
21

ferepea

(A) (A) 3 (R) Sl wEl & 31 (R), (A) 1 @&l e & |
(B) (A) 3R (R) gHI ®El &, W (R), (A) hl el A& 721 ¢ |
(C) (A) 971 7, Wfhd (R) T 2 |

(D) (A) Terd 8, Wi (R) H&1 2 |

3. Tr=ferRad @ @ %1 a1 THeheh fova o SRR 1 T8 Tt §4 3 7 1
(A) TETRITE TR
(B) Haw(eh TslcA
(C) &= TR
(D) CArRAIAS TEHR
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SECTION - A
(Multiple Choice Questions) (20 x 1 =20)
1.  Which one of the following matters do NOT deal with the ‘Family Laws’ ? 1
(A) Marriage
(B) Adoption
(C) Inheritance
(D) Finance

2.  Two statements are given below as Assertion (A) and Reason (R). Read

the statements and choose the appropriate option : 1

Assertion (A) : Women in different parts of the World organized
themselves and agitated for equal rights.

Reason (R) : Women’s movement aimed at equality in personal and
family life as well.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is the not correct explanation of (A).
(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

3. Which one of the following is the most popular form of government in the

contemporary world ? 1
(A) Dictatorial Government

(B) Constitutional Monarchy

(C) Military Government

(D) Democratic Government
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4. TWH-A 3 EH-B 1 fare Hifse 3 g fereped w1 = hifse 1

wWH-A w9 -B

(Fererar) (=h/ ferar)
IR 1. S g
1. g 2. wAEH
1. foeme 3. TAEH
IV, FEEEEwIT 4 3@ fav

A 4 3 1 2
@) 3 4 1 2
@© 4 1 3 2

M 2 3 1 4

5. < g %A, 3o (A) 3R R (R) feu mu E | Sl @ ufer 3t wd fasheq 1
T HIT ; 1
atlreRem (A) : T Alshd T STCATR |
HRUT (R) : AT Tifereh Arfier w1 foedR o6td 2 |
fremea
(A) (A) 3 (R) gl =&l € 3 (R), (A) A ot e 2 |
(B) (A) 3R (R) gl &l €, W (R), (A) %! el =Te & 2 |
(C) (A) =&t 2, Afer (R) T 2 |
(D) (R) Terd &, e (A) WE1 E |
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4. Match Column — A with Column — B and choose the correct option : 1

Column - A

ITI

(Subjects)
I.  Defence
II.  Police
III. Marriage
IV. Computer Software
Options :

I IT
A 4 3
B 3 4
© 4 1
D) 2 3

IV

Column - B
(List/Subjects)
Concurrent List
Union List
State List

Residuary Subjects

5. Two statements are given below as Assertion (A) and Reason (R). Read

the Statements and choose the correct option : 1

Assertion (A) : Elections are the spirit of democracy.

Reason (R) : Elections expand Political participation.

Options :

(A)
(B)
©)
D)

32/1/3
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Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is the not correct explanation of (A).

(A) 1s true, but (R) is false.

(A) 1s false, but (R) is true.
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6. T seaR W fmfefad sweuai w fo=m i 3 o fasheq 1 =@ i 1
I. g cliohad ol Heled LT B |
II. I AT THg! & s ey i %HH HT 1 |
I11. IE TSiHiferen fRuear < gifeaa war? |
IV. 3% gl o s Ammiferes — 3ffeh wed o 2 |
fereheu
(A) 1, II 3 III
(B) II, ITI 3R IV
(C) I, III3RIV

D) I, II3RIV

7. Treaferiea 5 @ o @1 o1 &1 =i | g ? 1
(A) feder
(B) =i
(C) ¥mEHR
(D) wEehr @t

8.  ohidl Ush ShATeid H d hidl B | a8 Fafird &9 & 9 % 37d H 9o ITH Hidl & | 9ad &
JTTET 30 TR g Feifa et & s giaurd fierdt € | 1

it fmforfiad 3 & fora g o v FE R ?
(A) Tfsa g
(B) 3rETfsd &=k
(C) wrefirh &=k
(D) =g &%
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6. Consider the following statements on Power Sharing and choose the

correct option : 1
I. It deepens democracy.

II. It helps to reduce conflicts among social groups.

III. It is a way to ensure political stability.

IV. It brings socio-economic struggles.

Options :

(A) I, ITand III

(B) II, IIT and IV

(C) L IIIandIV

(D) I ITandIV

7.  Which one of the following is a formal source of credit ? 1
(A) Relative
(B) Trader

(C) Money lender

(D) Cooperative Society

8. Kanta works in an office. She gets her salary regularly at the end of every
month. In addition to the salary, she also gets other benefits laid down by

the government.

In which of the following sector Kanta is working ? 1
(A) Organised Sector

(B) Unorganised Sector

(C) Primary Sector

(D) Quaternary Sector
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9. TN <fifve fh wh & § IR ufEr § 3R $ehl wifees 3™ € 10,000, T 20,000,
% 30,000 37 T 40,000 gt & 6 3hed 311 fopat arft ? Fm A d ot fpea gfg: 1

(A) T25,000
(B) 30,000
(C) T20,000

(D) 10,000

10. FreferRaa © & @i @1 e gRfem @ 2 1
(A) TAfE & —  HYAW
B) fadr® aos — o
(©) e s~ TR TR
(D) g &AH  — el

11. fraferRaa & & 6 @1 SgUgR SuHt o ot T Y@ oY 2, 9 98 Ush T Hu &

1Y HYH ITE T 1T LA 7 7 1
(A)  TEUEE o, T ot % @1 ThaH deh-ieh | L B |

(B) &gUEH ol Scarer & quft arcet 3 hiHd o ! R |

(C) wEUEE Sl 79t weermTd Aifa i T St & T e il B |

(D) wEUEE ST TR SHufEi o |1 3= 3R qRaries T6Y s # |
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9. Assume there are four families in a locality. If the monthly income of each
family is ¥ 10,000, ¥ 20,000, ¥ 30,000 and % 40,000, then what is the

average income of the locality ? Choose the correct option from the

following : 1
(A) T 25,000
(B) 30,000
(C) T20,000
(D) 10,000
10. Which one of the following pair is correctly matched ? 1
(A) Primary Sector - Fishermen
(B) Secondary Sector - Priest
(C) Tertiary Sector - Basket Weaver
(D) Quaternary Sector — Gardener

11. Which one of the following is a major benefit to an MNC when it works on

joint production with a local company ? 1
(A) MNC shares its latest technology with the local company.

(B) MNC decides all parameters and prices of the product.

(C) MNC shares its institutional policy with local company.

(D) MNC built good and familial relations with the local company.
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12. SHET % &9 i FEfefaa faRivdisti &1 39 g & 91y e Hifve st g

forhed w1 = iR 1
fergtean e

a. g ek I wergd

b. AA-BY Had II. FhEa i aard

c. THWA f I ATl III. wifs

d. dEER IV. e fremn

ferepea

a b c d
A I I II 1
@ 1Iv 111 1 1
© I 1 IV III
D) ImI1 1Iv 1II 1

13. fr=fafad # @ &4 @1 uge] ot 3. sraget 3 3.9 TARET ARt % e § TmH
a1 ? 1

(A) YR | i -oqeee W oig forg |

(B) wfgctat o STval W Yehrel SIeHT |

(C) HTE=hfeh foRTHd TR H STl SH |

(D) R T ITh T Taear & fore I & |

14. Ty=forRaa o & frem witd ® ugel gt 371 S0Td ST Shl ToT <61 7 1
(A) I.IAXEL. A

(B) GRNIH T
(C) IR, =

D) orpte
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12. Match the following attributes of allegory of Germania with its

significance and choose the correct option : 1
Attributes Significance
a. Broken Chains I. Heroism

b. Breast-Plate with eagle II. Readiness to fight

c. Crown of oak leaves III. Strength
d. Sword IV. Being free
Options :

a b ¢ d

@A 1 I O IV
B IV I I 11
) 1I I IV I
O I IV I I

13. Which one of the following aspects was common between the writings of
B.R. Ambedkar and E.V. Ramaswamy Naicker ? 1

(A) Wrote on the caste system in India
(B) Highlighted the experiences of women
(C) Raised awareness about cultural heritage

(D) Motivated Indians for their national freedom.

14. Who of the following set up the first Iron and Steel industry in
India ? 1

(A) J.R.D.Tata

(B) Purushotam Das
(C) R.G. Saraiya

(D) Thakur Das
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15. freferRaa ot et e | sHafera fifve 3t & fased w1 =z il 1

L.

II.

S g8 T § SRS GZTehIY shi €T |
S wifteat 3 i wgl & e fgdia favagg fser |

III. R fmidr & i 3, 3cdTed & T ‘S8t e Ugid’ bl TR |
IV. ufvadt sreferawensi 4 ge 1 ‘G-77 Tqg’ o &9 ¥ "ifed foha |
fremea

(A)
(B)
(©)

D)

II1, I1, I 3R IV
I, I, ITI 3R IV
IV, II1, 11 3R I

IV, II, II1 3R I

16. fr=forfigd Serit <6 ggrar 9 wHe 6 dg= HIfT 31 g8 foered 1 == Hifsa 1

% HL T AEUl IS %! HEA 2 |

TE T H A2 |

38 I % foru 32 e 3T ger 3 fordl Rereft e <61 strererene et 2 |
35 1T 50 | 75 cm 11k i Y Tarwsha 2t 2 |

forwea :
A

(B) we=

(C) =mad

(D) =T
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15. Arrange the following in chronological order and choose the correct option : 1

I. The Bretton Woods conference established the International
Monetary Fund.

II. The Second World War broke out between the Axis and Allied
groups.

III. A car manufacturer Henry Ford adopted the ‘Assembly Line Method’
for production.

IV. The Western economies organized themselves as a group — ‘The
Group of 77.

Options :

(A) IIL II, I and IV

(B) I, 1II, III and IV

(C) IV,III, ITand]I

(D) IV, II, III and]I

16. Identify the crop with the help of the following information and choose the

correct option.

This is the second most important Cereal Crop.
This is a Rabi crop.

It requires a cool growing season and bright sunshine at the

time of ripening.

It requires 50 to 75 cm annual rainfall.

Options :

(A)
(B)
(©)
D)

32/1/3
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Maize
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17. Tr=fofea v & @ forad gy sfu fRa R ¢ 1
&) afreg
(B) A
(C) 3Ty ™
(D) HACH

18. fafafgad s mgm gafea s 1
(A) VellgHel — T A
(B) wrefiger - fewrer &
(C) Thya - U=
(D) WU el — ToEIeA &

19. fr=faRaa <o & @ foraeht ST < Tm Gwnfaa o1y gatus 8 2 1
(A) 9
(B) dieiew
(C) wRd
(D) wIfhEa™

20. fr=ferRaa Tl 8 | S A1 Y § UsHTR Heeh 3fiehe IUeied i 8 ? 1
(&) T Hiferh Hrie
(B) Hifa smm
(C) g g %
(D) s HaT 3TN
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17. In which of the following States Tungabhadra Dam is located ? 1
(A) Tamil Nadu
(B) Kerala
(C) Andhra Pradesh
(D) Karnataka

18. Which of the following pair is correctly matched ? 1
(A) Alluvial Soil —  Gangetic Plain
(B) Black Soil —  Himalayan Region
(C) Arid Soil —  Western Ghats
(D) Laterite Soil —  Desert Area

19. Which of the following countries has the highest ‘Life Expectancy’ at the

birth ? 1
(A) Nepal (B) Bangladesh
(C) India (D) Pakistan

20. Which one of the following organization is providing data regarding

employment in India ? 1
(A) National Statistical Office

(B) Niti Ayog

(C) National Informatics Centre

(D) Public Service Commission
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TUE - @ (4x2=8)
(ctfa o3l weA)

21. heud1 Shifre b 39 om wom & | fopedl < mifafafemn w1 gema S St smoeht et @

for TmHenfERT <t 31 We™ o T fopu ST =fRw | 2
22. & fHatg Sy hi feredl gt frmrwanati &t =ame Hifvw | 2
23. 3y YA H ST -Taw § Y gealre fohd Thr 12 ? T8 Hif | 2
24. (a) IUYH EAMHIETG hl HAEpTTeh G & &Y H ST HIT | 2

e
(b) 1848 H T o Thigeh TR o TUHAI hl AT 3 HMHINH Toraa & ded o
ST HINT | 2
Qug - T (5 x 3=15)
(FTg -3 W)

25.  “EIY hl BUTE h! STE AThAeh 0T o 3T W & I H 0T 3hifd G935 |7 39 e hi

IETEWT Eigd same shifu | 3
26. 3R TG I ¥ T o fohwal dIH ST 3h1 SATEAT HITT | 3
27. (a) YR e S & frgl i I ol T8 HIfVT | 3

sreran

(b) <A Y TR Y TS YT o Hae H sfehi shi yfirent shi et FHife | 3
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32/1/3 Eﬁ%ﬁ

Get More Learning Materials Here : & m &N www.studentbro.in



SECTION - B

(Very Short Answer Type Questions) 4x2=28)

21. Imagine that you are the village Head. Suggest any two activities that you
think should be taken up to increase the income of the villagers. 2
22. Explain any two features of Intensive Subsistence farming. 2
23. How has caste system in modern India undergone great change ? Explain. 2
24. (a) Explain Romanticism as a cultural movement in Europe. 2

OR

(b) Explain Frederic Sarrieu’s dream in the context of democratic and

social republics in France during 1848. 2
SECTION - C

(Short Answer Type Questions) (5x3=15)

25. ‘The shift from hand printing to mechanical printing led to the print

revolution in Europe.” Explain the statement with examples. 3

26. Explain any three ways through which industrial pollution can be reduced. 3

27. (a) Explain any three functions of the Reserve Bank of India. 3
OR

(b) Explain the role of banks with regard to money which they accept
from the public. 3
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28. YA ¥ USHIfaeh ol o Trg@ feheal i ST <ht s Shifere | 3

29. “foeprE 1 TUfEdT % 9 TR Sh{ TG forehte 1 SsRaT W % T IR Iod 7 | g
Tfga samen HifT | 3

Qug - (4 x 5=20)
(S -3w" TeA)

30. (a) WA hi 3Rk 3R Terifaes feafa w wem fova g o wumai o1 faveryo Hifsw | 5
ST

(b) 19 Tt % 3nReT & WA § UyaTe % foeht | wAieheheaq TR eftehi <hl fireht
fergetor KT | 5

31. (a) ¥Ra ¥ e 3 A1 giEed & e 91 uftesd form v Temaqel @ 7 e
HIT ? 5

Jreran
(b) WA o Y Uiae i Tq@ foervaratt i smen Hifv | 5

32. (a) ‘ot g o ka6 e % foTe W wmel ? 17 39 e i 3w wfga gfy

I | 5
JAora
(b) “Arehas G AT - 3Tl TR ToHIfae THENTT T THEH L bl & |7
Teht Afed 39 HF i g i | 5
33. (a) “focsht SR % 3o ¥ UE 3 =g TR ) Aifara g it 2 17
Y Sl ST HITT | 5
JAora
(b) feresft frar b1 3 a i o foru ferepmarsfict <t grur SoTw U fopmel ui=r Suri
R HIT | 5
[OpA0)
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28. Explain any three challenges faced by Political Parties in India. 3

29. ‘The question of sustainability of development raises many fundamentally
new issues about the nature and process of development.” Explain it with
examples. 3

SECTION - D
(Long Answer Type Questions) (4 x 5=20)

30. (a) Analyse the implications of First World War on the economic and

Political situation of India. 5
OR
(b) Analyse the role of folklore and symbols in the revival of nationalism
in India during late 19th century. 5

31. (a) How are waterways an important mode of transport for both

passenger and cargo traffic in India ? Explain. 5
OR
(b) Explain the important features of Air Transport of India. 5

32. (a) “There is an overwhelming support for the idea of democracy all over

the world.” Support the statement with examples. 5
OR
(b) “Democracy can address all socio-economic and political problems.”
Support the statement with arguments. 5

33. (a) ‘Liberalization of foreign trade involves policy framework at National

and International level.” Explain the statement. 5
OR
(b) Explain any five steps taken by the developing countries to attract
Foreign investment. 5
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(| e T9)

34. feu e Hia ®1 ufeu 31R 3 A= fu ey o 3 i : 4
Tl HETET T ERET0T
3nfefeh forehtd o foTu F1t weh SMERYT 3TTewTehdl 8 | TUEH ST o Yo Herel —
HY, ITN, giEed, M 9 3o Tawsharst $i gfd & fou ot & fem 6
RS 8 | TaAar-ii s geaq frenfea smfies faeema i arsrnati 1 =] WA

o ToTu Sott <Al oSt AT 6 STTawehal off | Herea®d R ¥ | il o G4 ThR 1 ST
- g @ 2 |

39 I8yl 7 Sl < foehr % Taq it ant % foefad S 6l gid ey
B | ol TREAT BT ST 3T Al iehtufta STt GETe o1 Sgdl ST Had, Iruiid S o gt
HERE |

U H WA fova o STeqan Seiiea <ul B 1 STt 8 | 56 Sl o Eifta e
o ARG SUANT b FIT FTaTigul SUNTH TIHT BT | IeTetoned Teh STHT&eh AT
w9 T g0 JIard o for 3sht ame <ht 319811 Tresti~eh T8 sl SUIT ohish, Sie T 7 &l
T & al fostelt s hteh foea s=ra R aTel 3TN o TANT ¥ qT TR-URANe Sl
GIEET & TN § 89 37991 BIeT TNTEH € Hohd 8 | HATRIERR “Fistl hl F<id & sl IcateA

20
(34.1) Gad MU HIt Gad b Sl Hel #T 8 7 1
(34.2) T 9RA H IHoll ! GUd F I W7 7 1
(34.3) “3HSl bl s & HoAl bl IcddTeT @ |7 TE Hifw | 2
[OpA0)
32/1/3 {22 > Eﬁ%ﬁ

Get More Learning Materials Here : & m &N www.studentbro.in



SECTION - E
(Case Based Questions) Bx4=12)

34. Read the given case and answer the questions that follow : 4
CONSERVATION OF ENERGY RESOURCES

Energy is a basic requirement for economic development. Every sector of
the national economy — agriculture, industry, transport, commercial and
domestic — needs inputs of energy. The economic development plans
implemented since independence necessarily required increasing amounts
of energy to remain operational. As a result, consumption of energy in all
forms has been steadily rising all over the country. In this background,
there 1s an urgent need to develop a sustainable path of energy
development. Promotion of energy conservation and increased use of
renewable energy sources are the twin planks of sustainable energy. India
is presently one of the least energy efficient countries in the world. We
have to adopt a cautious approach for the judicious use of our limited
energy resources. For example, as concerned citizens we can do our bit by
using public transport systems instead of individual vehicles; switching
off electricity when not in use, using power-saving devices and using non-

conventional sources of energy. At last “Energy Saved is energy produced”

(34.1) Why is sustainable energy a key to sustainable development ? 1
(34.2) Why is consumption of energy rising in all over India? 1
(34.3) Explain ‘Energy saved is energy produced’. 2

32/1/3 {23 > E‘%’E P.T.O.
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35. feuwu Ea 1 gfeu 3R 3H i feu gwat o1 3w feflaw 4
T3t & forg aremw
T IUNIHT AT H 1 Teh alienT TRl &1 8 | S fop 319 ST &, fosiom forfiet

IcATE] ol TN 3T AT &1 2d & | S @R sl Hi 9ee ¢d 8 I R S der e

e 2 | 3T 51w el g # ¥ et 9Ri ww fason =10 ge | sreenl, ufieene,
B, amd, Tehifast % W W, wa w8 fomm o1 gu # | dfeT 3R & sfoem §
8 get <€ f vl =retan ® fop afteietor <Y Seand @ & fommot 3 fafim saaei
TSR 1 ot B 37 Teh F2ft STWIehT Teapfal T 8 37+t yfireht fam 2 |

9 H=et & STl 4 WA § ST S=A1 E R A1 F U % Sl W oad o
& | TISCT T WIAIGT I8 BIAT AT foh WU ol U T ATH & IcATGH oh S8 Tl = STt
oft | Taa & < 6T urEn 1 ek ot or | 9 foRe e W AR St # CHE §1

ey forat fe@ts e @1 @lier ol wuel @l | foret a8 o1 U =8 wdr o |

(35.1) 3TSH gRI YRA | a&q3ii o1 fagma= fope srepm fokan Siram o 7 1
(35.2) 3MafYaf3es Yra o S fora=l & q1eam ¥ 9T IYHIHT Hd &1 7 1
(35.3) ITEniieRtor o QU Tt o dreay & few U gew <t s e Hifw | 2
EEE
32/1/3 Eﬁ%ﬁ
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35. Read the given case and answer the questions that follow : 4
Market for Goods

One way in which new consumers are created is through
advertisements. As you know, advertisements make products appear
desirable and necessary. They try to shape the minds of people and create
new needs. Today we live in a world where advertisements surround us.
They appear in newspapers, magazines, hoardings, street walls, television
screens. But if we look back into history, we find that from the very
beginning of the industrial age, advertisements have played a part in
expanding the markets for products, and in shaping a new consumer
culture. When Manchester industrialists began selling cloth in India, they
put labels on the cloth bundles. The label was needed to make the place of
manufacture and the name of the company familiar to the buyer. The
label was also to be a mark of quality. When buyers saw ‘MADE IN
MANCHESTER’ written in bold on the label, they were expected to feel

confident about buying the cloth.
(35.1) How was the marketing of goods done in India by the British ? 1

(35.2) How were the new consumers created through advertisement

during colonial India ? 1

(35.3) Identify the messages conveyed through advertisements during

industrialization. 2

32/1/3 {2 > E‘%’E P.T.O.
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36. feumu ga i ufew 37 3ges = feu 7u gra w91 o1 3o fefige 4
WRA # fereriienton
9 ehg 3 TS TThR Y NTehal diehd T TR ohl € ST @ a1 36 Gl o
ferehgiertor shad 2 | fshgiertor & e gfandt o 97 2 7 3m gei 3t Tmenstt o
froern v« w & sfear @1 @ 2 wehar 8 | AT 1 379 3olteh bl HHENSAT hl
ST T Bt & | AT I 39 o1 b1 W 378! THHR BT & foh 6T el @ fohaT ST
3R =T 1 A1k purerar & IuT fohe atg foRem ST TehdT & | Sk STSTTET TR T

G AR ! HEell § e qrfileR ST W S9e 8 ST @ | S99 AlehdiiEes Ariier shi
3Ted USdl 8 | T R <hl TATHT T-3MMHT o Slehdii=eh [Hgid ol ariieieh s

&1 g9 37T dlhT & |

Terehdientur <t S&ta g Efae | off wiierr <hl 78 | 35 91 @ Tl 3 T
T I GAT o TIehgiehtur <hl g IR g5 & | Tt U1 H 7119 o T o T T=m=di 3R
U H FRaTfreRatl h T h 1 off | W IR UsT SRl o A e § @ men

o |
(36.1) <iiehad | “Tarehiehtor 1 w18 HIfT | 1
(36.2) <Aehad | LA T8 o T ol T HIT | 1

(36.3) Tearchglentur & fet WA TTHR gRT 33TC TN fohedl &1 SR T AU HIT | 1 x 2= 2

EEE
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36. Read the given extract and answer all questions : 4

DECENTRALISATION IN INDIA

When power is taken away from Central and State governments and
given to local government, it is called decentralization. The basic idea
behind decentralization is that there are a large number of problems and
issues which are best settled at the local level. People have better
knowledge of problems in their localities. They also have better ideas on
where to spend money and how to manage things more efficiently.
Besides, at the local level it is possible for the people to directly
participate in decision making. This helps to inculcate a habit of
democratic participation. Local government is the best way to realise one

important principle of democracy, namely local self-government.

The need for decentralisation was recognized in our Constitution.
Since then, there have been several attempts to decentralize power to the
level of villages and towns. Panchayats in villages and municipalities in
urban areas were set up in all the States. But these were directly under
the control of State Governments. Elections to these local governments

were not held regularly.
(36.1) Explain Decentralization in democracy. 1
(36.2) Explain the importance of Local self Government in democracy. 1

(36.3) Describe any two steps taken by Indian government for

decentralization. 1x2=2

32/1/3 {21 > E‘%’E P.T.O.
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Qe -« 2+3=5)

(vt enenfia we)

37. (a) YNd o feu Tu ToHifas -t | g THET (A) 3T (B) & &9 H 3fed fy
M2 | TS ARl o FEEdT € 3% YT 3 3k grE @ik 78 W@ish w
3o TEl 9 fafgu | 2

(A) 98 T &l IR TR 10 1 31fraee fadew 1920 1 ga1m o |
(B) 9% T WTE1 HETcHT et F THeh I ST T |

(b) a % gt {@-aHts @ Rrfafaa 3 @ foaedl @ 1 suge fusl @ auied st
3o T forfaw 3
(i) TPy
(i)  TRIGE AT Hert
(iii) O TR AT ITeh

(iv) IETT A v

e : hact grvaiie e % fore uv wen 37 % A W E | (5 x1=5)
Toregl utr wea1 o I IR :

(37.1) 39 TT o1 A iR srgt vyt wg s 6 stfeasH fdsr, 1920 # g3 o | 1
(37.2) 38 U o1 A1 ferfaw St miefisft 3 e 1 arel | 1
(37.3) 39 T 1 1 feiRay ST&f geter sty fera 2 | 1
(37.4) 38 UsT 1 W feARaT STl arIge weT] §94 fRra & | 1
(37.5) 38 UsH 1 T feafaw Sraf ot Tived=r Taiattsl ameh ferd 2 | 1
(37.6) 39 T &1 A1 forRaw Srgt wrrgiv agsl va- fem 7 | 1

32/1/3 28 > E‘%ﬁ%
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SECTION - F
(Map Based Questions) (2+3=5)

37. (a) Two places (A) and (B) have been marked on the given outline political
Map of India. Identify them with the help of given information and

write their correct names on the lines drawn near them : 2
(A) The place where the session of INC was held in September, 1920.
(B) The place where Mahatma Gandhi broke Salt Law.

(b) On the same outline Map of India, locate and label any THREE of
the following with suitable symbols : 3

(1) Hirakud Dam
(11) Tarapur Atomic Power Station
(111) Pune Software Technology Park

(iv) Paradip Sea Port

Note : The following questions are for Visually Impaired
Candidates only in Lieu of Q. No. 37. (bx1=5)

Attempt any five questions :

(37.1) Name the place where the session of INC was held in September,

1920. 1
(37.2) Name the state where Gandhiji broke Salt Law. 1
(37.3) Name the place where Salal Dam is located. 1
(37.4) Name the state where Tarapur Nuclear Plant is located. 1
(37.5) Name the state where Pune Software Technology park is located. 1
(37.6) Name the state where ‘Paradip’ Sea Port is located. 1

32/1/3 E‘%’E P.T.O.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Secondary School Examination,2023
SUBJECT NAME SOCIAL SCIENCE (SUBJECT CODE 087)
(PAPER CODE 32/1/3)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite
action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In class-X, while evaluating two competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks
should be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

6 Evaluators will mark( V' ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
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9 If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra Question”.

10 | No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 | A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves
it.

12 | Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).This is in view of the
reduced syllabus and number of questions in question paper.

13 | Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totalling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totalling on the title page.

Wrong totalling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15 | Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 | The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 | Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18 | The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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SET-32/1/3

MARKING SCHEME- SOCIAL SCIENCE (087)

MM-80
Q.N Pg. No. | Marks
0] VALUE POINTS
1X20=20
SECTION -A
(Multiple Choice Questions)

1. (D) Finance 36 1
2. (A) Both A and R are true, and R is the correct explanation of A. 34 1
3. (D) Democratic Government 66 1
4. OG)yr-2,n1-3 m-1,1v-4 16-17 |1
5. (A) Both A and R are true, and R is the correct explanation of A. 48 1
6. (A) I, ITand 11 6 1
7. (D) Cooperative Society 49 1
8 . 31 1

(A) Organized Sector
9. (A) Rs. 25, 000 9 1
10. _ _ 20 1

(A) Primary sector — Fishermen
11. _ ) 59 1

(B) MNC decide all parameters and prices of the product
1221 @) a-IV, b-1ll, c-1, d-11 24 !
13. (A)Wrote on caste system in India 126 1
14. (A) J.R.D.Tata %4 !
15 A LI L &IV 68 !
16. (A) Wheat 38 1
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17 (D) Karnataka 24 !
18. 1 (A)Alluvial Soil- Gangetic Plains ! 1
19 (B) Bangladesh 10 1
20. _ o _ 18 1
(A) National Statistical Office (NSO)
SECTION-B 4x2=8
Very Short Answer Type Questions
21. |Imagine that you are the village head. Suggest any two 27 2x1=2
activities that you think should be taken up to increase
the income of villagers.
(i)  To develop water harvesting
(i) Development of irrigation facilities
(iii) Development of Self-Help Group
(iv) Development of animal husbandry
(v)  Development of infrastructural facilities.
(vi) Development of cottage industries
(vii) Any other relevant point
Any two points to be explained.
22. | Explain any two features of Intensive Subsistence farming. 31 2x1=2
Q) This type of farming is practised in areas of high population
pressure on land.
(i) It is labour-intensive farming where high doses of biochemical
inputs and irrigation are used for obtaining higher production.
(ili)  There is enormous pressure on agricultural land owing to division
of land and absence of alternative source of livelihood.
(iv)  Itis practiced in states such as Bihar, Uttar Pradesh, Haryana etc.
(v)  Any other relevant point.
Any two points to be explained.
23, How has caste system in modern India undergone great change? 42,43 | 2x1=2
Explain.
(1) With economic development and large scale urbanization, large
scale socio-economic changes have happened.
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(i) With the growth of literacy and education everyone is
considered equal.

(i)  Due to occupational mobility and weakening of landlordism
in the villages, the old notion of caste hierarchy are breaking
down.

(iv) The constitution of India prohibited any caste based
discrimination.

(V) In the urban areas, no consideration of caste hierarchy is there
as all the facilities are equal for everyone.

(vi)  Any other relevant point
Any two points to be explained.

24. | (a)Explain Romanticism as a cultural movement in Europe. 13 2x1=2

(i)Romantic artists and poets generally criticized the glorification of
reason and science and focused instead on emotions, intuition
and mystical feelings.

(i) Their effort was to create a sense of a shared collective heritage, a
common cultural past, as the basis of a nation.

(iii)Other Romantics such as the German philosopher Johann Gottfried
Herder claimed that true German culture was to be discovered
among the common people — das volk.

(iv)It was through folk songs, folk poetry and folk dances that the true
spirit of the nation (volksgeist) was popularised.

(v)Collecting and recording these forms of folk culture was essential to
the project of nation-building.

(vi)Any other relevant point

Any two points to be explained.

OR

(b)Explain Frédéric Sorriew’s dream in the context of
democratic and social republics in France during 1848, 1-3 2x1=2

(i)In 1848, Frédéric Sorrieu, a French artist, prepared a series of four
prints visualising his dream of a world made up of ‘democratic
and social republics’.

(i) The first print of the series, shows the peoples of Europe and
America — men and women of all ages and social classes —
marching in a long train, and offering homage to the Statue of
Liberty as they pass by it.

(iii)Personified Liberty as a female figure — with the Torch of
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Enlightenment in one hand and the Declaration of the Rights of
Man in the other.

(iv) It was against the symbols of absolutist institutions.

(V) In Sorrieu’s utopian vision, the people of the world are categorised
as distinct nations.

(vi)The groups of categories are identified through their flags and
national costume.

(vii)He believed that from the heavens above, Christ, saints and angels
gaze upon the scene.

(viii)Leading the procession, way past the Statue of Liberty, are the
United States and Switzerland, which by this time were already
Nation-States.

(viii)These symbols have been used by the artist to symbolise
fraternity among the nations of the world.

(ix) Any other relevant point

Any two points to be explained.

SECTION-C 5x3=15
Short Answer Type Questions

2> ‘The shift from hand printing to mechanical printing led to the 109 Sx1=3

print revolution in Europe.’ Explain the statement with
examples.

(i) With the new technology borders were illuminated, new
designs and painting schools illustrated their creativity in the
books.

(ii) In the hundred years (between 1450 and 1550) printing presses
were set up in most countries of Europe.

(iii)Printers from Germany travelled to other countries, seeking
work and helping start new presses.

(iv)As the number of printing presses grew, book production
boomed.

(V) The second half of the fifteenth century saw 20 million copies
of printed books flooding the markets in Europe.

(vi)The number went up in the sixteenth century to about 200
million copies.

(vii)  This shift from hand printing to mechanical printing led to
the print revolution.

(viii) Any other relevant point

Any three points to be explained.
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26. Explain any three ways through which industrial pollution can be 66 3x1=3
reduced.
@) Minimising use of water for processing by reusing and

recycling it in two or more successive stages.

(i)  Harvesting of rainwater to meet water requirements

(iii)  Treating hot water and effluents before releasing them in rivers
and ponds.

Treatment of industrial effluents can be done in three phases-

(@) Primary treatment by mechanical means. This involves
screening, grinding, flocculation and sedimentation.

(b) Secondary treatment by biological process.

(c) Tertiary treatment by biological, chemical, and physical
processes. This involves recycling of wastewater.

(iv) Overdrawing of groundwater reserves by industry where there is
a threat to groundwater resources also needs to be regulated
legally.

(v) Particulate matter in the air can be reduced by fitting smoke
stacks to factories with electrostatic precipitators, fabric filters,
scrubbers, and inertial separators. Smoke can be reduced by
using oil or gas instead of coal in factories.

(vi) Machinery and equipment can be used and generators should be
fitted with silencers.

(vii)  Almost all machinery can be redesigned to increase energy
efficiency and reduce noise. Noise absorbing material may be
used apart from personal use of earplugs and earphones. The
challenge of sustainable development requires integration of
economic development with environmental concerns.

(viii) Any other relevant point.
(Any five points to be explained)

27. | (a) Explain any three functions of the Reserve Bank of India. 40,48 | 3x1=3

(1) The RBI issues currency notes on behalf of the central govt.
(ii) It supervises the functioning of formal sources of loans.
(1i1i) The RBI monitors the banks to maintain the cash balance.

(iv) The RBI sees that the banks give not just to profit-making
businesses and traders but also to small cultivators, small scale
industries, to small borrowers etc.

(v) Periodically, banks have to submit information to the RBI on
how much they are lending, to whom, at what interest rate, etc.
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(vi) Any other relevant point

Any three points to be explained.
OR
(b) Explain the role of banks with regard to money which they

accept from the public.

(i)Banks accept the deposits and pay an amount as interest on the 41 3x1=3
deposits.

(ii) Banks keep only a small proportion of their deposits as cash
with themselves — 15 per cent

(iii) This is kept as provision to pay the depositors who might
come to withdraw money from the bank on any given day.

(iv) Banks use the major portion of the deposits to extend loans.

(v) Banks make use of the deposits to meet the loan requirements of
the people.

(vi) In this way, banks mediate between those who have surplus
funds (the depositors) and those who need these funds (the
borrowers).

(vii) Banks charge a higher interest rate on loans than what they
offer on deposits.

(viii) The difference between what is charged from borrowers and
what is paid to depositors is their main source of income.

(ix) Any other relevant point

Any three points to be explained.

28. | Explain any three challenges faced by Political Parties in India. 57,58 | 3x1=3
(i) Lack of internal democracy within parties.
(i1) Dynastic succession

(iii)Growing role of money and muscle power in parties, especially
during elections.

(iv) Lack of meaningful choice to the voters.
(v) Any other relevant point

Any three points to be explained.

29. | ‘The question of sustainability of development raises many 15 3x1=3
fundamentally new issues about the nature and process
of development. Explain with examples.
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(i) Conservation of environment is necessary for development.

(it) Development can be sustained in any economy by using
renewable resources such as groundwater, wind energy and solar
energy.

(iii)Control over usage of resources as these are replenished by
nature.

(iv)We have a fixed stock of resources on earth which cannot be
replenished so need to conserve it for sustainable development.

(v) Conservation of resources is not nation specific issue

(vi)Our future sustenance is linked with the conservation of resources.

(vii)  Any other relevant point.

Any three points to be explained.

4x5=20
SECTION-D
Long Answer Type Questions
30. |(a) Analyse the implications of First World War on the 30 5x1=5
economic and political situation of India.
(i)  The war created a new economic and political situation. It led to
a huge increase in defence expenditure which was financed by
war loans and increasing taxes:
(i1) Customs duties were raised and income tax introduced.
(iii) Through the war years prices increased and doubled leading to
extreme hardship for the common people.
(iv) Villages were called upon to supply soldiers, and the forced
recruitment in rural areas caused widespread anger.
(v) Crops failed in many parts of India, resulting in acute shortages
of food.
(vi) This was accompanied by an influenza epidemic. Millions of
people perished as a result of famines and the epidemic.
(vii) Any other relevant point
Any five points to be analysed.
OR
47 5x1=5

(b) Analyse the role of folklore and symbols in the revival of
nationalism in India during late 19tk century.

(i) ldeas of nationalism were developed through Indian folklore
and symbols.

(i) Nationalists began recording folk tales sung by bards and they
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toured villages to gather folk songs and legends.

(ii1) It felt the need to preserve folk tradition in order to discover one’s
national identity and restore a sense of pride in one’s past.

(iv) In Bengal, Rabindranath Tagore himself began collecting ballads,
nursery rhymes and myths, and led the movement for folk
revival.

In Madras, Natesa Sastri published a massive four-volume collection
of Tamil folk tales, The Folklore of Southern India.

(v) Nationalist leaders emphasised on icons and symbols for unifying
people and for inspiring them for nationalism.

(vi) During the Swadeshi movement in Bengal, a tricolour flag (red,
green and yellow) was designed. It had eight lotuses representing
eight provinces of British India, and a crescent moon,
representing Hindus and Muslims.

(vii)By 1921, Gandhiji had designed the Swaraj flag. It was again a
tricolor (red, green and white) and had a spinning wheel in the
centre, representing the Gandhian ideal of self-help.

(viii)Any other relevant point

Any five points to be analysed.

3L (a) How are waterways an important mode of transport for both 75,77 x1=5
passenger and cargo traffic in India? Explain.
(1) Waterways are the cheapest means of transport.
(if) They are most suitable for carrying heavy and bulky goods.

@iii) It is a fuel-efficient and environment friendly mode of
transport.

(iv) India has inland navigation waterways of 14,500 km in
length. Out of these only 5685 km are navigable by
mechanized boats.

(v) India’s trade with foreign countries is carried from the ports
located along the coast.

(vi) 95 per cent of the country’s trade volume is moved by sea.

(vii) It generates employment and helps in earning much needed
foreign exchange.

(viit) Any other relevant point

Any five points to be explained.

OR
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(b) Explain the important features of Air Transport of India. 5x1=5
(1) The air travel is the fastest and most comfortable mode of transport. 78

(ii) It is also the prestigious mode of transport.
(iii) It can cover very difficult terrains like high mountains, dreary deserts,

dense forests and also long oceanic stretches with great ease.
(iv)Air transport is widely used in the north-eastern states.

(v) Special provisions are made to extend the services to the common
people in these states.

(vi) Pawanhans Helicopter Ltd. provides helicopter services to Oil and
Natural Gas Corporation in its off-shore operations, to
inaccessible areas and difficult terrains like the north-eastern

states and interior parts of Jammu and Kashmir, Himachal
Pradesh and Uttrakhand.

(vi)Any other relevant point.

Any five points to be explained.

32. | (a) “There is overwhelming support for the idea of democracy 66 5x1=5
all over the world.” Support the statement with
examples.

(i) Democracy gives freedom to People to select their government
without any domination or pressure unlike other form of govt.

(if)Democracies have had greater success in setting up regular and free
elections and in setting up conditions for open public debate.

(ili)Democratic government develops mechanisms for citizens to hold
government accountable and mechanisms for citizens to take
part in decision-making. Promotes equality among citizens.

(iv)Democratic government enhances the dignity of the individual.
(v)Democratic government improves the quality of decision-making.

(vi)Democratic government provides a method to resolve conflicts.
(viil) Democracy provides a framework for political stability,
accountability, and transparency.
(viii)Democracy is based on the idea of deliberation and
discussion
(ix)Regular, free, and fair elections are the feature of
democracy

(vii)Any other relevant point.

Any five points to be explained.

OR
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(b)Democracy can address all socio-economic and political
problems.” Support the statement with arguments. 63-72 | 5x1=5
1.  Democracy is an important form of government that

allows for the participation of citizens in decision-making
1.  Democracy provides a framework for political stability,
accountability, and transparency.
1i.  Democracy is based on the idea of deliberation and
discussion
iv.  Regular, free, and fair elections are the feature of
democracy
v.  Open public debate on major policies and legislations
V1. Democracy gives it citizens’ the Right to Information
about the government and its functioning.
vii. Democracies are based on political equality.
viii.  All individuals have equal weight in electing
representatives.
ix. Governments function to represent the general view of
minority and majority
x. Democracy has strengthened the claims of the
disadvantaged
xi.  Democracy tries to accommodates social difference
xii.  Democracy tries to deal with societal problems such as
poverty, inequality, corruption, and discrimination
xiil.  Democracy works for the economic development.
xiv. Any other relevant point
Any five points to be explained.
33. 64,65 | 5x1=5

(a) ‘Liberalization of foreign trade involves policy framework at
National and International level.” Explain the statement.

(1) Removing barriers or restrictions set by government is what is
known as liberalization.

(i)With liberalization of trade, businesses are allowed to make
decisions freely about what they wish to import or export.

(iii) The government imposes less restriction on businesses.
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(iv) Starting around 1991, some far-reaching changes in policy were
made in India. The barriers on foreign trade and foreign
investment were removed to a large extent.

(v)World Trade Organisation (WTQO) is one such organization whose
aim is to liberalise international trade.

(Vi)WTO establishes rules regarding international trade, and sees that
these are obeyed.

(vii) Governments are taking special steps to attract foreign companies
through Special Economic Zones (SEZs).

(viii)Government also allows flexibility in the labour laws to attract
foreign investment.

(ix)Exchange of technology and production methods are common in
collaboration with foreign companies.

(x)Foreign  direct  investment,  Privatisation,  deregulation,
disinvestment, working of MNCs etc. are the policies for the
liberalization of foreign trade.

(xi)Any other relevant point.

Any five points to be explained.

OR

(b) Explain any five steps taken by the developing countries to 67 5x1=5
attract Foreign investment.

(i) Industrial zones called Special Economic Zones (SEZs) are being
set up.

(if) SEZs are to have world class facilities: electricity, water, roads,
transport, storage, recreational and educational facilities.

(iii) Companies who set up production units in the SEZs do not have to
pay taxes for an initial period of five years.

(iv)Government has also allowed flexibility in the labour laws to
attract foreign investment.

(v)Instead of hiring workers on a regular basis, companies hire
workers ‘flexibly’ for short periods.

(vi) Any other relevant point

Any five points to be explained.

SECTION-E 3x4=12
Case Based Questions
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4 CONSERVATION OF ENERGY RESOURCES o5 1+1+2=4

(34.1) Why is sustainable energy key to sustainable
development? 1)

(i) Energy is a basic requirement for economic development.

(it) Every sector of the national economy- agriculture, industry,
transport, commercial and domestic- needs inputs of energy.

(iii) Sustenance of future depends upon conservation of energy in all
realms.

(iv)Any other relevant point.

Any one point to be explained.

(34.2)Why is consumption of energy rising all over India? (1)
(1)India is the world’s third-largest energy consuming country.
(if)Rising incomes and improving standards of living.

(ili)Economic development, rising population and technological
developments.

(iv)Any other relevant point

Any one point to be explained.

(34.3)  Explain energy saved is energy produced. (2)
(i)Using renewable energy
(it)Improve energy security
(iii)Improve access to energy

(iv)By ensuring access to affordable, reliable, sustainable, and
modern energy

(v) Reduce, resuse and recycle
(vi)Any other relevant point

Any two points to be explained.

3> MARKET FOR GOODS 100 1+1+2=4

(35.1)How was the marketing of goods done in India by the
British? @)

())Through labels

(i1) Images of Indian Gods and Goddesses

(iii) Calendars
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(iv) Any other relevant point

Any one point to be explained.

(35.2)How were the new consumers created through
advertisements during colonial India? 1)

(i)Advertisements made products appear desirable and necessary.
They tried to shape the minds of people and create new needs.

(i)They appeared in newspapers, magazines, hoardings, street
walls.

(iif)Advertisements have played a part in expanding the markets for
products, and in shaping a new consumer culture.

(iv)Any other relevant point

Any one point to be explained.

(35.3) Identify the message conveyed through advertisements
during industrialization. (2

(i) For the expansion of market of their product.
(ii) Place of manufacturing

(iii) Familiarity

(iv) Mark of quality

(v) Quality could not be questioned.

(vi) To purchase swadeshi

Any other relevant point.

Any two points to be explained.

36. DECENTRALISATION IN INDIA 24 1+1+2=4

(36.1) Explain Decentralisation in democracy. @)

(i)When power is taken away from Central and State governments and
given to local government, it is called decentralization.

(it)Any other relevant point

Any one point to be explained.

(36.2) Explain the importance of Local Self Government in
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democracy. 1)

(i) Large number of problems and issues are best settled at the local
level.

(if) People have better ideas about money spent and how to manage
things more efficiently.

(iii) People can participate in decision making process.
(iv)Any other relevant point.

Any one point to be explained.

(36.3) Describe any two steps taken by Indian government for
decentralization. (2)

(i) Panchayats in villages and municipalities in urban areas have been set up.

(ii) Powers have been given to the Panchayats and municipalities.
(i) 73 and 74™ constitutional amendments
(iv)Any other relevant point.

Any two points to be explained.

SECTION-F
Map Based Questions

2+3=5

37.

@ Two places A and B have been marked on the given political
outline map of India. Identify them and write their correct

names on the lines drawn near them.
(A) The place where INC was held in September 1920.

(B) The place where Mahatma Gandhi broke Salt Law.

(b) On the same outline map of India locate and label any
THREE of the following with suitable Symbols.

(i) Hirakud Dam

(i) Tarapur Atomic Power Station
(iii) Pune Software Technology Park
(iv)Paradip Sea Port
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Note:  The following questions are for Visually Impaired

Candidates only in lieu of Q. No. 37.

CLICK HERE e




Attempt any five questions.

37.1 Name the place where the session of INC was held in September

1920. -Calcutta (Kolkata) 1

37.2 Name the state where Mahatma Gandhi broke Salt Law. -

Gujarat 1

37.3 Name the place where Salal Dam is located. — Jammu and

Kashmir
1
37.4 Name the State where Tarapur nuclear plant is located.
-Maharashtra 1
37.5 Name the State where Pune Software Technology Park is
located. -Maharashtra
1

37.6 Name the State where Paradip ‘Sea Port’ is located. -Odisha.
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